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9T, SR & A7 9w
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1.

Positive facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical (2) Sequential
(3) Lateral (4) Bilateral

The democratic organisation of school
influence

learning, this factor of
learning is related to :
(1) Methodological aspect
(2) Social aspect
(3) Physiological aspect
(4) Psychological aspect
Which of the following is mor an
appropriale  strategy for improving
students problem solving ?
(1) Functional fixedness of students
(2) Give extensive opportunities 1o
solve real-world problems
(3) Involve parents  in  children's

problem solving
(4) Monitor Students

ineffective

strategies

Rohan is reading a latest Bahubali comje
book because he ¢annot wait to see what

happens 10 Bahypa; i i
: s and his family. Th;
15 best example of - i

effective ang

problem solving

(N Only intrinsic molivation

(2) Only extrinsic motivation

(3) Both intrinsic and extrinsic Molivation

(4) Neither intrinsic nor extrinsic Motivatig
n

P‘ T» O-
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HETF qafye [4]
M=o 3
IﬁTrFiT%?
() R Rt a1 gqdm
ARG R Rl &

2] o5 o=y

) § q9E & R
- & T e

ST qT ety dm 2 ?
(1) e-seerT & -
(2] gge &}

(3) 999 g9 &K

5. Whic

'VEI-afqaos

h of the following is a good

assessment strategy 10 avoid cultural

bias 7
(1) Asscs

methods .
Use a single, good standardized

s students using a variety of

(2)
test
Assume that ethnic differences arc

due to heredity
(4) Avoid  using portfolio for
asscssmenl purposes
In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?
(1) Pre conventional level
(2) Conventional level
(3) Post conventional level
(4) Mutual interpersonal level
A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this examplc development is primarily
influenced by :
(1) Heredity
(2) Environment
(3) Early-later experience
(4) Continuity '

3)

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them (o recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was

our greatest Prime Minister" 1o
defend or refute
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(1) 20/70 & 20,200
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(3) ¥y frars a=ai & @19 6/6 gite

(4) 20/10 § 20/30

el () S AT

g forgd ol svems & OeEl oi

FrRsll & dergar @ o0 gaw & FbE

F @ fou diaed @ ¥, T ©

(1) 3r=dr st

(27 wrEffa = e

(3) QR STEa ST
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9.

10.

11.

12.

13.

[A]

According 1o Lrikson, in complex
socictics teenagers experience which of
the following state 7

(1) Identity crisis

(2) Identity achicvement

(3) Identity moratorium

(4) Identity foreclosure

Most suitable strategy for a tcacher,
when he/she is working with adolescent

students is to : _

(1) Ask students to make comparisons
(2) Propose a problem and invite
students to form hypothesis

Give children
ordering operations
Construct an inclined plane or a hill

cxpericnce  in

(3)

4
Children considered as low vision who
have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses

(3) 6/6 vision with corrective lenses

(4) 20/10 to 20/30

Learner centered instructional strategy
in which students arec encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery leaming

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not
stay focused on a task, act impulsively,
ignoring social rules and lashing out
with hostility when frustrated, is
indication of :

(1) Attention - deficit hyperactivity

disorder

(2) Slow learner
(3) Mentally retardation
(4) Amnesia

P.T.0.
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15.

16.

17.

18.

is 10 social cognitive theory as

Vygotsky is to social constructivist

theory.
(1) Skinner
(3) Piaget
According

Ecological
peers and s

(2) Scigler
(4) Bandura
Brc)uﬂ:nhrcnncr's
family.
chool ete. influence his’her
development and they belong to the :
(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

(o
Theory, student’s

According 10 Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and

more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

According 1o Piaget, which of the

following characteristics is not related
to formal operational stage of children ?

(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning
(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average lo above average intelligent.
However her pgrades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis
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19.

20.

21.

22,

[A]

Which of the following question is most -

likely to get students to reflect on their

purposc ?

(1) What is most important to you in
your life ?

(2) How can you organise your life ?

(3) What can you do 1o get good
grades ?

(4) How can you set better short term
goal ?

Which of the following programme is

not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) F,nr_ichmcnl in regular classroom
selting

Young people mainly girls engage in

strict dieting and excessive exercise.

This cating disorder in adolescence is

known as :

(1) Anorcxia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educaling children with special
nceds in special classroom of
school

Educating children with special
nceds most of the time in regular
class

Educating children with special
needs full time in the regular
classroom

3)

(4)

P.T.O.
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23.

24.

25.

26.

27.

Which of the following statement is

correct about the naturc ol emotions ?

(1) Emotional :
modified by lcarming.

(2) Emotions arc permancnt slale of
the organism.

(3) Emotions arc

expressions arc

arouscd by internal

stimull. o
(4) Certain facial  cxpressions  of
emotions have different meanings.

following type of lcaming
when students approach
aterial in a way that helps
d the meaning of the

Which of the
style is used
the lcarming m
them understan

materials 7
(1) practical style (2) Impulsive style

(3) Surface style (4) Deepsiyle

Speaking or writing in such a way as to
have an impact on others is known as the -

(1) Grammar of language

(2) Phonecmces of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple

partners stimulate and encourage onc

another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is

incorrect about the principles of child

development ?

(1) Development follows a definite and
predictable pattern.

(2) All individuals are similar in their
development.

(3) Development s  product of
hereditary and environment.
works on  the

(4) Development
principle of integration.
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wndettined 0 e sentencer grven g,
ptsern s boen el my g verh

141 The stage perlermaneey are called
Razi lexla

13} Ihe perlonners enacted Py [eely
on the stage

{1 Bach actor perfomied In g Circular

irae on the stage an Raas Leela

My The performung sttt moved in a
circulat space o the stape in Rass
lecla

47, Selewt the eorerdd option from the
follaswing that comectly Banvorma the
fillowang scrmznce from [Direet speech
i Indireat apeech

e waid, 'Congratulations

Hi MNe congratelaled me

121 e ranl 1o me congratelutons
13 M enclaimed congratulatsons

(44 e ovsavirp ongratulivl oms.

48 Fill o ihe Blank with the coreect

prepesibion

o you usually go owl Satunday
ovenngh

() m 121 @

Lh) oo (4 within

wpage v s da complets the sentence

My fmher . for Ikelh
yestenday ”
T leave (21 wll leave

(3 len {4) wll be leaving

. Chowe the oeerect optren @ 11 an the

Blank wpace an the wemtence which
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T - 1/ PART — I .
W gt / GENERAL STUP!IE

[%%W

/ QUANTITATIVE

APTITUR 5% S e arr 1 ENESS
?ﬁr ’ mq}DxE' REASONING ABILITY AND GK- & AWAR :
'r‘_lcr"' . A “;‘5
01 : Angypey ’ftv_ﬁ,ggmr B Fre wam aftm Rt GC1 fe option.

lowing questjons by selecting the most approprt@ —
i ) age of three boys is 16 years

The average

Gﬁ‘qa
S 93 16 3 ¥ o 61. , e
ion N STIORT 4 2 5 7 o, @ and the ratio of their ages 154 :5: 7, find
H : ! . of smallest boy.

(N Y R R 7 oul the age
. 8 ?ﬂf (2,} 0 Er[f ('[) § ycars (2) 9}'(‘-3[5

. (37 12 79 @) 16 qd (3) 12 years (4) 16 ycars

2, ﬁ'ﬁflﬁ T ¥ 60% Rendi 50 o 62, In an cxamination 60% of students passed
70% TR iy B, T 20% Rl .1 English and 70% .sluc{cnts passed in
R A ot @ @ 2500 Maths, 20% students failed in both subjecs

foemel @11 fat # ot <2 &
e & e Rl 2 7 o

2500 students passed in both subjects. Find

out total number of students :
(2) 3500

(11 3000 (2) 3500 (1) 3000

(3) 4000 (4) 5000

A,Isﬁw%mcaﬂxn,lzﬁ@ 63.
RIEEARC S s R alwc, B
ger g o FE d § dm-w wed
3AYEF I § T e !
(1) A,C & 381 81 (2C,D 3 91 8

(3) D.C & T2 &1 (4JE, B & T3 &1
sa.wmqﬁﬁaﬁmaﬁ%maﬂtn 64.

%E‘ﬂﬂﬁ}(aﬁﬁﬁ%m%wﬂeﬁ‘rﬂ'
%lﬁfzaﬂaﬁﬁﬁﬂqﬂzﬁqreiﬁﬁ%?

(3) 4000 (4) 5000

A is elder to B while C and D are elder
to E. E lies between A and Cand Cis
clder to B, then which of the following
statements is necessarily frue ?

(1) Aiselderto C (2) CiseldertoD
(3) Disclderto C (4) EiseldertoB
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1Y ad T (2) ST (1) bottomside (2) upside
(3) e (4) die (3) infrontside (4) in back side
65. B ok C @ 7§ A 81 C # A D2 65. A is the brother of B and C. D is the
A & fudr E ¥ @ Frefared 7@ mother of C. E is the father of A. Then
r-a T FUA 2 7 which statement is _false ?
A1) ]_?‘Eﬁj’g'i{B%l (1) Bisson of E.
2) B @ @ E & (@) Eis father of B.
(3) D@ qfa E B S; ‘il.S husband of D.
d) D & FA A E A oD is son of D.
Level-3/4306 \ & " \
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66. ST aviarr ¥ PRy
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-1) 8 2y 9
(3) 12 4) 11

67. 1 ol & 7 BIGEE e i
ICV, 5FU, 9IT, 15LS, 170R

SRS F aduy

(1) 5FU 2@ 9T
A3) 15LS (4) 170R
68. A T Rrvedi ¥ ¥ 7wt
(a3 17 (2) 131
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qo frg R A ® 7

(19 afor (2) SW
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[A]

66. In English alphabet, how many letters
arc unchanged in mirror image ?

(1) 8

(2) 9
3) 12 4 1
67. Find the wrong term in the following
serics :
ICV, SFU, 91T, 15LS, 170R
(1) SFU (2) 91T
(3) 15LS (4) 170R
88. Find the Odd one out from given
oplions :
() 171 (2) 131
(3) 161 4) 181
69.

Write the following words in the order
given in the dictionary :

"1, Critical
Crisis
(1) iii, iv, ii, i
(3) iii,iv, 1, 1

3ii. Criterion

1iv. Crisp
(2) 1,101, 1v, ii
@) v, iy, i, il

v di,

70. 1If English alphabets are written in

opposite order, then which is the 8th
letter of the 19th letter from left side ?
T 2) P

“(3) Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 @)1

(3) 4 @) 3

71.

72. Two persons A and B stand in front of

each other in moming. If A's shadow's
lies in the lefl side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O
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BD.

B‘F

B2.

B3.

84.

-
q‘r--r‘!_ kel A

| A

At the specd ol 6} km per hour, 125
meter long train crosses a bndge in 30
seconds. What is the length of bridge ™

{2) 225 meler

{1y 375 meter

(1) 125 meter {1y 250 meler

Ihe district, in which Gujari Mahal s
situaled | .

{1y Hansi {2y lhsar

(3) Panchkula (43 Ambala

On the husis of extent of the penod as

Chief Minister, amange the fillowing
Chief  Mimisters ol Haryana in
descending order (longesl scrving first) :
{(iy 1hajen Lal

(i) Bhansy [al

ity Bhupinder Singh Hooda

{iv) Devi Lal

Choose the carrect coide

(1) Gy, (i, (kv

(2) Gt (i o, Ov)

(3} (o), L), vy i)

(4) (uh Q) i), (i)

Ihe district, which is mainly imigated
by Jw Canal -

(1) Hisar (2) Jhajjar

(3} Bhiwnni 4y Rohiak
Consider the following stalements about
Shanno Devi -

(a) Shanno Devi was the Deputy
Speaker  of  Punjab  Legislative
Assembly.

(b) When Harvana was furmed, she
was clected as the Speaker of
Harvana Legislative Assembly

Which of the above statement!

statements 15 arc frue 7

(1) Only (a)1s true

12) Only (b) s true

(3) Newther (a) ner (bis e

(4) Tk (a) and (blaw T

P.T.0.
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh’

Newspaper 7
(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Considerthe following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K-M.

Which of the above statement is/are
true ?

(1) only (a) is true

(2) only (b) is true

(3) neither (a) nor (b) is true

(4) both (a) and (b) are truc

The Markanda river does nof flow in
which of the following district ?

(1) Kurushetra  (2) Sonipal
(3) Kamal (4) Ambala
The state tree of Haryana is :

(1) Peepal (2) Khejar
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft

Fair-2018 ?
(1) Egypt
(3) Kazakhstan

(2) France
(4) Kyrgyzsian

- Which of the following districts has the

lowest population density ?
(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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91.

92.

93.

94.

95.

—

R

A contemporary, conservative leader of
England who called 1857 a "National

Rising", was :

(1) James Outram
(2) W. Taylor

(3) Benjamin Disraeli
(4) Lawrence

Where and when was the Tata Iron and
Steel Company set up in India ?

(1) Calcutta, 1901 A. D.
(2) Bombay, 1879 A. D.
(3) Jamshedpur, 1907 A. D.
(4) Surat, 1916 A. D.

Who brought the Printing Press to Indi
and where ?

(1) Goa- Portuguese

(2) Pondicherry — French

(3) Surat — English

(4) Daman and Diu — Dutch

The first cricket club was established t
Indians at Bombay in 1848 was :

(1) Gymkhana Club

(2) Hindu Gymkhana Club

(3) Oriental Cricket Club

(4) Muslim Gymkhana Club

The time of the ongin of the Hor
Sapiens is supposed to be from :

(1) 1.910 1.6 Lakh B.C.

(2) 3.6 1024 Lakh B.C.

(3) 64 Lakh B.C.

(4) 56 Lakh B.C.

3
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96.

97.

98.

99.
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feyferiaa
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(A) TR (i) Foile FE @

(B) 7@y (ii) Ffera @1

(C) Teads (iii) |reT @

(D) & (iv) ge=s @l

(1) A, B-iv, C-iii, D-ii

(2) A-ii, B-ii, C-iv, D-i

(3f A, B-ii, C-iii, D-iv

(@) A-iii, B-i, C-ii, D-iv

P gqErd el @ I AT B

e ghfe i _
(A) TR () Fg AT
NEEIN]
(B) Fard — (i) ToTed
(C) TEH (iii) eI,
(D) Hifear (iv) 9 3R
HHR

(1) (A)-(iv), (B)-(i), (C)-(iii), (D)-(ii)
@) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(3) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(D)
A4y (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)

TR B g 7 Sl W F ATER
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(3) 750 o (4) 644 o
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96.

97.

98.

98.

100.

Match the following rulers and their
regional states formed during 18th

Century :

(A) Hyderabad (i) Murshid Kuli

Khan

(B) Awadh (ii) Kilich Khan

(©) Ruhelkhand (iii) Sadat Khan

(D) Bengal (iv) Muhammad
Khan

(1) A-i, B-iv, C-iii, D-ii
(2) A-ii, B-iii, C-iv, D-i
B-ii, C-iii, D-iv

3) A

(4) A-iii, B-1, C-ii, D-iv

Match the following  pastoral

communities with the regions they

belong to :

(A) Dhangar (i) Kumayun
and Garhwal

(i) Rajasthan
(iii) Maharashtra
(iv) Jammu and
Kashmir
(1) (A)-(iv), (B)-(i), (C)-(iii), (D)-(ii)
(2) (A)-(ii), (B)-(i), (C)-(iii), (D)-(iv)
(3) (A)-(iii), (B)-(iv), (C)-(ii), (D)-(1)
(4) (A)-(i), (B)-(ii), (C)-(iii), (D)-(iv)
Who was the commander-in-chief of the
English army in the battle of Buxar ?
(1) Robert Clive (2) Major Munro
(3) Dr. Hollwell (4) Eyre Coote

Which of the following is not the salient
feature of Paleolithic period ?

(1) Hunting was the chief means of
survival

Man lived in caves

Man had started making stone tools
Man invented Bow and Arrow

(B) Bakarwal
(C) Raika
(D) Bhotia

(2)
(3)
(4)

The Abbasids took over power from
Ummaiyyads in the year :

(1) 661 AD.  (2) 656 A.D.

(3) 750 A.D. (4) 644 A.D.
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101.

102.

103.

104.

[A]

When did the Mongols occupy Baghdad ?

(1) 1111 A.D. (2) 1092 A. D.

(3) 1163 A.D. (4) 1258 A.D.

Which of the following provisions was

not included in the treaty of Alinagar

(February, 1757 A. D.)?

(1) English Company's
Privileges of trade restored.

(2) Permission granted 10
Calcutta.

(3) Promised to pay the compensation
for the losses to English company.

(4) English company promised to
maintain peaceful relations with the

French in India.

former

fortify

Which one of the following is not
related to Jyotiba Phule ?

(1) Dharma Tritiya Ratna

(2) Ishara

(3) Sanjeevani

(4) Life of Shivaji

Match the events and the dates of their

occurrence :

(A) Revolt against (i) November,
the court case 21, 1945

of LN.A. A.D.

(B) Revolt against (ii) February
Rashid Ali 11, 1946
case A.D.

(C) Revolt by (iii) February
Royal Indian 18, 1946
Navy A.D.

(D) Formationof  (iv) October 21,
Indian 1943 A. D.
National
government

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-ii, B-iii, C-i, D-iv
(4) A-iv, B-iii, C-ii, D-i
P.T. 0.
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105.

106.

107.

108.

108.

110.

111.

The communist
party ol Chj
founded in the year : hina was

(1) 1919 (2) 1921

(3) 1925 (4) 1934

'rh(? E.ll'(:]'ll'lCCl of Neco Roman style in
India in the post 1911 A. D, period was
(1) Lourie Baker (2) Edwin Lutyens
(3) Le Corbusier (4) Herbert Baker
The political partics other then Nazi,
were declared act of sedition in
Germany by the ordinance of :

(1) 14 July, 1933

(2) 30 January, 1934

(3) 21 April, 1933

(4) 5 March, 1933

Who led the oricntalists in the General
Committce of Public Instructions
formed in 1823 A. D. ?

(1) H.T. Princep

(2) Macaulay

(3) David Hair

(4) Cicil Rhodes

Who designed the city of Chandigarh ?
(1) Edwin Lutyens(2) Herbert Baker
(3) Le Corbusicr (4) Louric Baker
Arrange chronologically the Europeans
in accordance with their coming to
India :

(A) Portuguese  (B) Dutch

(C) English (D) French

(1) A,C,D,B (2) C.A.B,D

(3) D,B,A,C @4) A,B,D,C
Which among the following was not one
of the important consequence of

permanent scttlement ?

(1) created a class of devoted land
holders.

(2) unexpected increase in agriculture
production. |

(3) made farmers completely
dependent upon Landlords. :

(4) deprived  the  company 0
incremental growth in income,
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112. Which of the following was nmot a

113.

114.

115.

116.

n producing centre of India ?
(2) Barbakabad

(4) Lalitpur

musli

(1) Sonargaon

(3) Calicut

The Social reformer of Maharashtra who

is famous as 'okhitwadi’, was :

(1) Atma Ram Pandurang

(2) Krishna Shastri

(3) Bal Gangadhar Tilak

(4) Gopal Hari Deshmukh

Consider the following statements about

the declaration of human rights by the

National Council in France in 1789 :

(A) It contained rights not duties.

(B) It protected interests of the middle
class.

(C) It had not
enforcement of rights.

(D) It also assured the proletariat for

guaranteed  the

livelihood.
Which of the above statements arc true ?
2) (A), (B) and (C) ;

(1) (A)and (D)
(43 (A)and (D)

(3) (C)and (D)
Who among the following is not 2
Japanese intcllectual ?
(1) Liang Quichao
(2) Fukuzava Yukichi
(3) Miyake Setsurei
(4) Ucki Emori
The English dclegate who cured emperor
Farrukhshier in 1715 A. D- Was~
(1) William Hamilton
(2) Edward Stephenson
(3) John Sermon
(4) Francis Dey

p.T.O.
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127, lag RNt i g g et
SERIR Y N HEOL e [
(v by o LI I T T T TE T

U T BT
OF G0 w0 ANrar afve agbor 4
M e g
D ey WIS vy Ve Al
NI BRI et boner f,
128, L N TR T Ty

R TP
LR JIRDE

Aty 1wl
Coomrelmin 1y oot
() A uijp (2) A, g ¢
(3) oy (17 1, Cud
129, {J?!{'I-flr-l AN 1w o) ik o0 G AT
AR e B (ay
(L) In e 1 agfag it 1
)l e g @ i s
QT stalivn i o) sedonn s 4
(O T @ bl arenrd) fog 7|
130 faedl i gears e v ) it o)
S e e W), g g
() stilepdisr wqeaay
(2) driyr
(3T o1 marenun
() g
3. [wiferfers & @ ey ST wre
i a7 2 v
(1) Al =1
(2) 4T #) g
(35 e i adp
(4) b
2. TR agiferr Aifan
(A) el (i) wy
() 7jurers, (ii) H'{(
(C) auiigres (iih) 5Pl sty e
(D) “liarrrfe (iv) gppg,
=(1) A-ii, B, C-iv, DA
(2) A-i, B-ii, C=iii. Deiv
(3) A-iv, 13-ii. (-1, -
(4) A-iii, B-iv, C.ji, D.i

1-3/4306

127, What is nmof truc aboul the Bhakg
o movement 7 ) _
(1) It preached a simple way of life
(7) N preached for  the
r communication with the Ged
(%) It paved the way for cquality gn
brotherhiood among the Masses
(4) It believed  in polyiheism and
dirceted for pilprimages
128, Scleet what 14 true  abog the craf
industrics of Chanhudare -
A, Gold Jeveellery BB, Shel Cutting
C. Seal making 1), [eaqy making
(1) Aand I3 (2) A, Band C
(3) Cand) (4) B, C and D
120. Implcmcntulin{i of the policy of Nashy
by Aurangzeh indicates -
(1) The increase  jn
produce,
(2) The area of cultivate
(3) The weakness of
machinery,
(4) “The advantages 1o the farmers,
130. “The sultan of elh; who
up the title of caliph was -
(1) Nasiruddin Khusaravshah
(2) Kaikubad
(3) OQutubuddin Mubarakshah
(4) Nizamshah
131, Which among the following was not
built by Jahangir 7
(1) Biwi ka Makbara
(2) Akbar's Tomb
(3) Mot Masjid 1.ahore
(4) Shalimar Bagh
132. Maich the l'uilm-.‘ing_:
(A) Ratnavali {'I) ;‘-lia:-;ﬂf
(B) Suryashataka (11) Tlarsha -
') Chandishataka(in) Jayaditya a
(C) Chandis i
S (i abhatta
(D) Kashikavritti (iv) Banab
(1) A-ii, H*i.(.’-i}:.l]-lll'
(2) A-i, B-ii, C-iii, D1y
(3) A-v, B-n, ('-Llnl‘)“:
(4) A-iii, Bay, C-n 1

direey

agricultyral

d land reduced.
the administrative

himselfl wok



(A]

133. @_l 313[‘
D Ry T-n 3 The [27] 4 select the
B : ot-11 an )
oW ﬂfﬁr&’r& T 4 Sk 133. Match List-T with .Lls he codes given
Kiﬁ | w & correct answer using !
-1
(A) f%‘v—@lm - w._“ bclﬂ‘-l'\:,:t I L-iSt'“
] 0 ls -
(5) el El) mgqi%m (A) Hindola Mahal () Mand
(©) T ey ") (B) Eklakhi TomP iiy Pandu?
O) T ) (Cy Teen Darwaja (1) Ahmedabad
ST (V) miRwRge (D) Jammat Khana (V) Malikpur
i? : Masjid

Codes :

(1) A-ii, B-i, C-1v, D-iii
(2) A-iii, B-iv, C-ii, D-i
(3) A-v, B-i, C-ii, D-iii

(1) A-ii, B-i, Caiv, Do
(2) A-iii, B-iv, C-ii. D
(3) A-iv, B-i, C-ii, Dii

(4Y A-i, B-ii. C-iii Do
1o B Y A o oo (4) Ad, B-ii, C-iii, DIV
e ¥ 3 Q;; Q:fq FAvst & av # 134. Which of the following texts gives
(1) ! ' information about Minander ?
T Teheaerel 1) Avadankalpalata
@) R S i
o (2) Historica
(3) 3 (3) Indica
(4] HaIEH (4) Mudrarakshasa
135. FE-1 B gA-1 & Gk A 135. Match List-1 with List-1I and select the
T Ry ™ FI § TN YT ;o;rccl answer, using the codes given
elow :
-1 -1 List-I List-11
(A) TG qaraa (i) 29 IR (A) ?m“u‘-' (i) lbnul Asir
awarikh
(B) arie-o-geed (i) FE g @ (B) Tarikh-i- (i) Muhammad
. Muhammadi Bihamad Khani
(C) forara-gar-Tean (i) 7 5T () Kiabal- (i) Ton Betut
ahala
(D) tg-F-F (V) E &g e (D) E“:“‘}'a'- (iv) Khwaja Abu
o alatin Malik Isami
odes :
i (1) A-ii, B-iv, C-iii, D-i

i, Beiv, C-iii, D -
(1) A-ii, BV (2) A-iv, B-iii, C-i, D-ii

5y Aviv, Beifi, G- D - B
e B-ii, C-iil D-iv ) A b B-ii, C-iii, D-iv
(37 A'Ir ' " (4) A‘l\',. 13_1“‘ C-ii' D_i

4) A-Iv, B-iii, C-1l; D-i

Level-3/4306 P.T.i



[A]
136. W4 womaA & gy H e a1 ?

(17 &9 faramm &1 9q@
(2) @7 e &1 gqe
(3) IrEE fgarT & 9@
(4) wUe framT @ ggQ

137. %% 39 U@ &N B@ 77 & A9 T
R F ST T T S, 8 ¢
(1) STYERHIHR]
(2) IR SR
(3§ i Mfa=
(4) dfera =g

138. Ffog Tq

g @ g @
B R & e g |

-1 gE-11
(A) Fag (i) arTaa
(B) F9de (ii) qmHA
(C) qmdg (iii) 9%
(D) 3Terdag (iv) HgE
%< -

(1) A-i, B-iv, C-iii, D-ii
(2) A-ii, B-i, C-iv, D-iii

(3) A-i, B-iii, C-ii, D-iv

(4) A-iii, B-iv, C-ii, D-i

fFrefafaa & 4 FI9-a1 93 g/ R
e e ?

(1) eyt

(2) FAR =T

(3f safw g

(4) zZa1Hg 19

Frefifae & ¥ f9-ar 5

CHAT BT 787 o7 ? TR e

() swry @f STeTRmER
(3) smmT (4)

139.

140.

Level-3/430¢

[28]

136.

137.

138.

139.

140.

Who was Kupyadhyaksha in  the

Mauryan administration ?

(1) Head of forest department

(2) Head of mining department

(3) Head of transport department

(4) Head of weights and  measures
department

The ideals of kingship have been viere

mentioned by Krishna Dev Ray in the

text called :

(1) Amuktamalyada

(2) The supreme light incarnate

(3) Gita Govinda

(4) Lalit Madhva

Match List-1 with List-II and choose
the correct answer using the cedes
given below :

List-1 List-11
(A) Rigveda (i) Vajasneye
(B) Yajurveda (i) Shakal

(C) Samveda (111) Shaunaka
(D) Atharvaveda (iv) Kaumuth
Codes :

(1) A-i, B-iv, C-iii, D-ii

(2) A-ii, B-i, C-iv, D-iii

(3) A-i, B-iii, C-ii, D-iv

(4) A-iii, B-iv, C-ii, D-i

Which of the following is nof composed
by Dandi in the following ?

(1) Kavyadarsha

(2) Dash Kumar Charit

(3) Avanti Sundan

(4) Dvayashraya Kavya

Which one of the following citics
during the Mughal period was nof 3

mint city ?
(1) Agra (2) Ahmedabad
(3) Ajmer (4) Bhopal



141.

142,

143.

144,

T 3 A d-w e
MeF wiiRhes i 72 3 7

(1) =R (2) ol

e % 3 - @ diRw
Sfeeiiad RfY & g 72772 ? Eh
(1) & (2) =R

(3) == (4) S

e Riw 3 sirs & 1 gif <A
(A) W FOE &= (1) "=
(B) TTirar (i) @
(C) AoHd (iii) TER, I,
L7 e
(D) T BY & (iv) SR &R AER
(87)
A1) A-iii, B-iv, C-ii, D-i =
(2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-iii, C-ii, D-i -
(4) A-ii, B-i, C-iii, D-iv

e &l

¥ o P §H & JBR @ o

i gAferd :

(A) HfETH (i) shwa SR =

(B) et (i) & A

(C) FraftE (iii) &= s

(D) FA:qaiq (iv) 8 & T,
HRkes @ A
F M

(1Y A-i, B-ii, C-iii, D-iv
(2) A-iv, B-i, C-ii, D-iii
(3) A-iv, B-iii, C-i, D-ii
(4) A-iii, B-iv, C-ii, D-i

Level-a/4306
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141.

142,

143.

144.

[A]

Which among the following is not the
secular literary source of Indian History ?

(1) Nectisar (2) Arthashastra
(3) Lalit Vistar  (4) Mudrarakshasa

Which one in the following is not
among the four sources of law as
mentioned by Kautilya ?

(1) Dharma (2) Vyavhar

(3) Charitra (4) Pratyukia

Match the following Mughal cities and
the manufactures they were famous for :

(A) Silk weaving (i) Madras

centres
(B) Carpet
(C) Muslin

(i) Dacca

(iii) Lahore, Agra,
Fatchpur Sikri

(D) Calicos (iv) Agra and Lahore

(1) A-iii, B-iv, C-ii, D-1

(2) A-i, B-ii, C-iii, D-iv

(3) A-iv, B-iii, C-ii, D-i

(4) A-ii, B-i, C-iii, D-iv

Match the following types of
knowledge and their meaning according
to Jainism :
(A) Matigyana (i) Sensory
knowledge
(i1) Scriptral
knowledge
(ili) Extra sensory
or clairvoyance

(B) Shrutigyana
(C) Avadhigyana

knowledge
(D) Manahparyaya- (iv) Knowledge of
gyana other's  mind
and heart or

telepathy

(1) A-i, B-ii, C-iii, D-iv
(2) A-iv, B-i, C-ii, D-iii
(3) A-iv, B-iii, C-i, D-ii
(@) A-iii, B-iv, C-ii. D-i
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145.

146.

147.

148.

149.

150.

(3) e
Wmmﬁsﬁmﬁ RGN
Srar AT I fewATeT Headr, 98 o
(1) M 11 29 Fom I

(3) 4@ (4) M= 11
ﬁqﬁﬁqﬁﬁ-mqgmqﬂg'ﬁﬂmﬁﬁﬂ
e § a7 ©

(1) smaagsemIE (2) O
3) s 4y SR

e Fel W

145.

146.

147.

148.

149.

150.

related to the measuremeny

The term not
Gupta period, is :

of land in the

(1) Aadhvap (2) Dronavap

(3) Aprahatvap (4) Kulyavap

rakuta ruler who built Ellora

The Rasht

Kailash temple in 8th Century was :
(1 Govind 11 (2) Krishnal
(3) Dhruv (4) Govind III

mong the following is not 2

Which a
blican administration

part of the Repu
during Mahajanpada period ?
(1) Asanapanyapak (2) Ganapooraka

(3) Vinayadhar (4) Ubbahika

the archaeological sites of

Where
Mesolithic period have 110t been found ?
(1) Kashmir (2) Rajasthan

(3) Madhya Pradesh (4) Maharashtra

The musical drama 'Swang' is mainly
played in the region of Indiais:
(1) Maharashtra and Andhra Pradesh

(2) Punjab and Haryana
(3) Manipur and Tripura
(4) Bengal and Bihar

Which of the following pairs is #0f
correctly matched ?

(1) Bheetargaon — Vishnu temple
(2) Nachanakuthar — Parvati temple
(3) Bhoomra — Shiva temple

(4) Tigava — Sun temple
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